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Why did 97K say, etc. — 9910 IR MK FTAYN

OVERVIEW

The & m3 explained that according to "3 IR X2 who maintains that 172v 2°pon;
T1NW L3 XY MRY XY, nevertheless the 2°72y of a 73 who died without 2w are
freed, since WX 172y and the o°72y are freed with the death of the master.
Nonetheless if the master has 2°w71 the ownership of the slaves is transferred to
the 0w, The X 3 asked if this is indeed true (°277 °X) how can we understand
TR who ruled that 33P0 1% 1R 191 Y 172V °pon1, but since there are no WY
regarding this slave (for he freed the slave), why 7pn 1% X, he should be freed.
moon explains that the difficulty with 929X is not necessarily only according to
MY MR KW,

MmooIn asks:
— z‘mmm PN SNV v 53 1991 N NS AND ON)

And if you will say; what is the %271 58, for if we follow the ruling of ®X»w, there
will certainly be a difficulty with the ruling of 972°a8?!

N1B0IN answers:
— N ONIN INNYT DIVN DD NOYP KD NNT 91990 v

And one can say; that this contradiction with X was not difficult to reconcile
with m°nR, since the ruling of »X»w is a dispute between 2°81n, as we find -

— (3,20 77) 937 RN DD (w7 nmav) SPRIT DD
In Y17 222 and in the last P22 of =11 n2on, therefore »°»X has no need to agree with

XMW since he can maintain like the X1n who disagrees with SXnw -
— 11929 1301 5395 NYT DINT NIDN IN 19 NIWP NN YN

However the X723 was troubled if it turns out that “2mR disagrees with his

' 7"X indicates that the difficulty with 92" is only if we maintain as " X X7 that an W v3 X 72¥ in a case of
9511 but not in a case of 7in°1 as is apparent from the X n3. See ‘“Thinking it over’ # 2.
? Sxmw maintains (X,7%) that 1w B3 "X MY KXY 1729 ponn, then certainly that would contradict this ruling of
TR that 73PN 2 PR 7297 WNIR 121 172V 9P01; according to PRAW he is a complete 17 12!
3 There is a npY>mn there between TY9R 12 1WA " and the 71327 whether we can be 7" an 3"va 72y (the view of
X"2w1) or not (the 13137). They argue whether the 109 of WX 72¥ 991 is interpreted like 2XW (the 1327) or not (X"2w).
* The mawn there cites a NP2 between 01 ' n"A regarding an 72y who ran away from his master and was 71
M7 112, According to »"1 he may not drink wine, while *"'7 maintains he may drink wine. The X713 initially wanted to
tie this np1onn to the ruling of HRXwmw that »"3 agrees with YXmw (and therefore since he ran away he is freed
completely as if the master was 2°pon him) and >"1 disagrees with YR1nw.
> See w"w1 who maintains that 17 lived much after *"1. See X971 MK 2°n w13 who addresses this issue.
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master, 5''1 —

mooin (based on the above) resolves another difficulty:
— 9NY 'NANT 132949 919INY 6‘[ﬂﬁ’nb NN N 1) 91

And therefore the X713 could not have also asked on %2R [directly] from the

7121 (and) [of] 9IR® XaR who maintain that the 072y of the 13 are freed without a 11w 13 -
— SuNINYT 1Y MOINT NI NYDND IN0Y ¥9I1 1INT

For "nnX would establish their argument (of 131271 218w X2X) according to that
Nin who agrees with HR1% (that Mnw v "X MR XY 172 PO7) -

$NIPN I PPN NINY V) TXI8 NXTO1DT 9209 1NDY NPD9T NI NINND 920 PN VAN
However m°»X maintains like the Xin who argues with them, so 71X
maintains that according to this other Xin (who disagrees with PX1w) the 72v
requires a W vx and therefore since the owner died the 72y has no recourse.

SUMMARY
The question on X is how can he disagree with °"9 his °27. However it is
obvious that he can disagree with X1 since XMWY is *Xind.

THINKING IT OVER

1. moon explains that there is no direct question on 72°2X from the &n>72 of the
DIRW X2XY 1327 regarding a 73 because MR can interpret that Xn»72 according to
oxmw.” However if that is the case, then there is no question on 22X at all, for
X need not explain the Xn*72 in the manner of 1"7 (that 121 MWD 172V), but
rather simply state that the entire Xn>92 is according to xmw!"

2. How do we understand the phrase, "1 n»1 172y °pont a3''R'?

® The fact that the o>7av are freed 137 Nn*»2 without a MM vx would (seemingly) contradict the view of 9= »X that
ANW VA TPAX DY 17V Pani.
" The Y"wArn amends this to read 9Xw XaX). See X"wImn.
¥ See “Thinking it over’ # 1.
? See footnote # 8.
% See X"wmn.
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